BERESHIRENEE

A2m
2023/24 BFEHHERLFE

e T ARBRRRE2BETE 18
BRIRES BRI 311650
AL 4R 0001

{§E : 2304 0501

&% 1 2389 3179

BREMN RERRHUBAEEERAH
BRI JE£F (2022F9 &) *
BRI e RE
REER 0 ER DA HAZRM 14
REESR B=INEL+ EZ=T =1Ll 1
BIREH 1961 B
EEARENBEE (2022F9HER) 140 mRHEESHLE 15
aEf R =HE 9 SE LM E AT 0
BIMERSSH 5 H {th T 31 4 0
ENERENT £l BB AT BT 0
BRE Ll Hith 0
HinigRI= / 5t mE . EHE * FEUEERO-2m AR R Z HED
RERMEBASHEAR (2022F98H M) * | 15 ET4EEEHI (20228F9 B E#Y)
Bt http://ktlk.edu.hk
LSRR BT LB 1:85
HREKR
REWE : SRRRE A nas (L bssslce rar | DS 0
work/qr/gr-report/HKLC_KwunTong.pdf IR BIEIE 2-3 U B

B4 AH (2022F9HEM)

4h5EBE 13 3 e
LEF 0 0 0 0
T4 0 0 0 0
=i 32 40 56 128
SFEE (2023 / 248 %)
4h523E {EBE =y
EFH - - RE
HmEUF & B2/
EFBE T - - %8
(HA2Y)
Z2A3 RE GRE S8

BHREEREE - F2BWNEEBRE -

N52RTE (202259 B HHY)

1R fit2-35% 4 5L AR TS - R #E25E LUN 40 52 AR 75

= == 5% 2-35% 2R Bl SR E 0
WEAT (24 (*H) Wik EE&EJEEE}K%&

5 (£H) MR EBEE -
RIEIERY - RMUERREEE -




v UTERBBRIENR - v
Iz A

etz AR Al At

iRtz i El

AU ERE  REREE &
EER RRELRESBETER -

BB OB ENEERE UERREMNRREN  BBRE

ARFER (DHEHERERSS) (2017)RERE - FEERDEANRENERT - TAEERAEM

AN ERRRANEER -
28 / HBEAKES

ERRERBPERUEHPEY
B -

- BBSTCETNES  RIBRETREE - RAREHSEBNEHN

SRESBERTMG

BRETHETNG  RCRRBEERERCREESTEANBERR -

EREe
BREBRIER

DEEBEMEL  BEREEE B -8B ¥ =57H9ERERE -

HEBERIE

MENESE - MERRER - M —EEINENE - )N —2BEREY  BEARBREEESE -

HIFEFBENTE

ZHENGE / BT BRI FEERRETISAMNMBRERR ZENEE ; ERLERBDINESE
i ; BEARRELRERENRNS ; RENNSNSERRIE . B ME SRS T b ;
SMENERBRORATRZIED -

HERKRENSENXE

EESHEIRBRIREERTE -

BRRKE
RRYME : 8
HitRRiEE / BB

FEPETERREERE - BFIRT - MFAESES - MABaEsA -

ETEHERAmMAIWE (2022 / 2382 F)

EERR $95-126 /E LFRMR $154-185 /&
28 $93 /@ KA $1,020 /%
A $488-676 /£ RAH / FE $93-98 /¥
X8 $55-65 /E EE=] REIIER

RERUBAESRFHMIEE
(2023F3R&EHY)

() MM < $30,000
(i) “2°2 $30,001 - $40,000
(iii) > $40,000

REHBAE

(iii) 7%

(ii) 20%

(i) 73%

E=HEE

RERHUBABMRBBEE
(20233 EEH)

() <4
(ii) 4-7%
(i EEE>7 &

(ii) 33%

(ili) 67%

2021/22F EERRAZER
FSZIR B &2 BET =%

i) L BRERRBBASHH

(i) B FBRBASHM

(iii) N B2 - TEE - EWRHE
I #2RE

(v) BTHIIRERER

(vi) EEeR  EfthBAsz

(vi) 6%
(iv) 6%
(iii) 3%

(ii) 10%






